Using Radicals to Solve Equations

1. Find the positive value of x that makes the equation true.

Zx 2—E’>x=7x+8—10x
2

2. Find the positive value of x that makes the equation true.

1llx+x(x—4)=7(x+9)
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Using Radicals to Solve Equations

1. Find the positive value of x that makes the equation true.

Gx)z —3x=7x+8—-10x

1 2
<Ex> —3x=7x+8-10

Check:
1 2 _ — 1 2
KX T m Ty . (% (4&)) —3(4v2) = 7(4v2) + 8 — 10(4v2)
x2—3x+3x=—3x+3x+BZ 1
2 _ g4 <1> 7 (16)(2) - 3(4V2) = 7(4v2) - 10(4v2) + 8
x fr— J—
2 _ 80y 34—2 —3(4v2) = 7(4v2) — 10(4v2) + 8
xxz—: 32 8 —3(4v2) = (7-10)(4v2) +8
Jx2 =32 8 —3(4v2) = —3(4v2) + 8
x=+/25 8 —8—3(4v2) = —3(4v2) +8 -8
x=+/22-\/22.v2 —3(4V2) = —3(4V2)
x =42

2. Find the positive value of x that makes the equation true.

1lx+x(x—4)=7(x+9)

Check:
11x+x(x—4)=7(x+9)
11x + x2 — 4x = 7x + 63 11(3V7) + 3V7(3V7 — 4) = 7(3V7 + 9)
2 __ 2
ST = X+ 63 33v7 + 32(V7) " — 4(3V7) = 21V7 + 63
7x—7x+x°“=7x—7x+ 63
2 — 63 33V7 — 4(3V7) + 9(7) = 21V7 + 63
7 = V&3 33V7 — 127 + 63 = 21V7 + 63
v = JGOD) (33— 12)V7 4+ 63 = 21V7 + 63
_\/_2\/_ 21V7 4+ 63 = 21V7 + 63
X = 3\'F7 21V7 + 63 — 63 = 217 + 63 — 63
x =3V7 21V7 = 21V7
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